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RS 40 85 43 A2t 7rtE 241 950 213 271
=] 10 166 83 83|—-=z& 102 208 106 102
Ti& 67 144 81 63|[& iR 19 35 19 16
A@ 61 171 88 83||tLAL 32 65 31 34
3 33 83 39 Ad(\Aiz ) 19 36 18 18
1h)=; 18 43 17 26
BAF 26 42 21 2108 & 106 211 113 98
HiEA 353 181 395 386|E<z0O 31 66 35 31
IR 16 29 16 13
Ezn 18 32 14 18|+ 23 53 29 24
A& 62 134 10 64| AR LR 18 34 19 15
AR 31 67 36 31|&FL 18 29 14 15
WmESH 15 35 20 15
A 24 50 26 24| R 129 252 121 131
a8 36 91 47 44
TR 11 31 17 14|l ER 67 133 64 69
Al 18 21 13 14| ER 62 119 57 62
i& 3 3 2 1
BEER 20 51 21 28| & 27 37 12 25
15 F T 18 42 23 19
Lig 97 218 100 118[+ &< 21 37 12 25




EEAECTIEINE 5 z W % | Hel | BAD | 5 =
5 {x this; 2,298 5, 687 2,793 2,894
5 i 2,298 5, 687 2,793 2,894
S iRBTHER 101 271 135 136
SiRETILR 49 110 49 61
SiRET 5 4R 1,117 2,637 1,288 1, 349
BiRATHR 547 383 1,024 518 506
BiRATAR 547 158 424 204 220
5 iR AT it 26 67 31 36
SiRETE S 18 45 24 21
5 iRBTHh 1 34 14 20
5 iRET R o 26 67 31 36
SiRETEE 30 83 39 44
SiRET RS 26 77 38 39
SiRBETED 43 118 58 60
5 iRETIE 2 105 267 139 128
S iRETIE 3 92 224 108 116
EARATIE 4 34 50 24 26
S iRETHHIL 1 79 189 93 96
JiiO#hisg 1, 456 3, 666 1,779 1,887 ERTEREREGIRMIERIADO - HEK
g 1, 456 3,666 1,779 1,887
ERETe | 110,786] 252,926 124,057| 128, 869
nofnEE 111 274 135 139
nasw 101 274 138 136|& Mt 82,863 183,941 90,167 93,774
=IO 373 909 429 480||h 2 & it 3,862 10,362 5,131 5,231
i [l i=! 458 1,115 521 594[#5% 5% izt 4,792 12,560[ 6,105 6,455
nosgEsre 128 368 190 178(|= & 2,448 6,158 3,025 3,133
noxBEE 45 121 60 61][LLy At i 354 705 354 351
nonl 85 215 105 110[/hE s 1,779 4,035 1,974 2,061
noEs 1 25 13 12||f0 & th i 1,290 3,375 1,646] 1,729
naxiR 24 39 26 13|30 #u g 3,155 7,854 3,864| 3,990
ok 2 5 3 2[5 = izt 6,489 14,583 7,219] 17,364
NOom\EEWL 118 321 159 1625 tx i 2,298 5,687 2,793 2,894
NI O i 1,456 3,666 1,779 1,887




